
https://www.certbus.com/1z0-807.html
2024 Latest certbus 1Z0-807 PDF and VCE dumps Download

 

 

 

1Z0-807Q&As

Java EE 6 Enterprise Architect Certified Master

Pass Oracle 1Z0-807 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.certbus.com/1z0-807.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-807 Dumps | 1Z0-807 PDF Dumps | 1Z0-807 Study Guide                                1 / 7

https://www.certbus.com/1z0-807.html
https://www.certbus.com/1z0-807.html
https://www.certbus.com/1z0-807.html


https://www.certbus.com/1z0-807.html
2024 Latest certbus 1Z0-807 PDF and VCE dumps Download

QUESTION 1

Which two measures are most effective in protecting websites from cross site scripting (XSS) attacks? 

A. Escape "" parameters that displayed or evaluated by the JavaScript interpreter. 

B. URL-encode ""parameters so they will never be evaluated by the JavaScript Interpreter. 

C. Ensure that the session cookie is sent only on UTTPS connections. 

D. Treat all user-supplied input as unsafe, and white list known good characters 

E. Execute all user-supplied scripts in a server-side sandbox. 

Correct Answer: CE 

 

QUESTION 2

Your application uses web services extensively and frequently to distribute large XML objects over HTTP. In addition,
the application has been set particularly demanding performance and scalability service level agreements (SLAs). 

Which java API is best suited for your application? 

A. STAX 

B. DOM 

C. JAXB 

D. JAXR 

Correct Answer: A 

 

QUESTION 3

Which two actions limit the consequences of a network based attack? 

A. Implementing the principle of least privilege 

B. Installing a firewall at the outer boundary of your systems 

C. Placing Internet-accessible servers in a demilitarized zone 

D. Deploying a single sign-on system to provide system-wide authorization 

E. Allowing application servers privileged access to all databases 

Correct Answer: BE 
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QUESTION 4

You are consulting with a team that has maintained several legacy database for years. They have reviewed the JPA
spec and are wondering if the technology would offer benefits over this current SQL base. 

Which statement identifies a risk of adopting JPA? 

A. JPA only works with well-known data models. 

B. JPA may be able to model every table as a class. 

C. JPA could render code that requires extensive SQL tuning to perform well. 

D. JPA\\'s query language relies on a container to manage the persistence layer. 

E. JPA doesn\\'t provides ACID semantics. 

Correct Answer: A 

 

QUESTION 5

You are designing a bank application in which automated email reminders are sent to customers every 24 hours,
starting from five days prior to a payment due date until the payment is made? Which type of beans most closely match
the implementation needs for this requirement? 

A. Stateful session bean 

B. Stateless session bean 

C. Managed bean 

D. Message-driven bean 

Correct Answer: D 

 

QUESTION 6

Which type of application would benefit from using the Singleton pattern? 

A. An application that interacts with external systems in serial fashion. 

B. An application that interacts with external systems in parallel fashion. 

C. A clustered application that can support 200 concurrent users. 

D. An application that requires remote monitoring capabilities 

Correct Answer: A 

 

QUESTION 7
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Your company has decided to expose a set of business operations through an API so that clients can access them
remotely. These operations, which are modeled as methods on a stateless session bean component, act as building
blocks for complex state-changing activities that need to possess atomicity,, consistency, isolation and durability (ACID)
semantics. 

Select the best technology to implement the API. 

A. Remote Method Invocation (RMI) 

B. Java Message Service (JMS) 

C. XML over HTTP 

D. Java Connector Architecture (JCA) 

Correct Answer: A 

 

QUESTION 8

Which two statements are true about java Cryptography Architecture (JCA)? 

A. Any JCA provider must implement each supported category of algorithms. 

B. Exactly one Implementation of each category of cryptographic algorithms must be provided. 

C. Implementations of cryptographic algorithms can be plugged in to a JVM after it has been installed and at run time. 

D. Categories of algorithms supported by JCA include message digests, signatures encryption, management, and
random number generation. 

Correct Answer: CD 

 

QUESTION 9

Which four services are guaranteed to be present in a specification compliant Java EE container? 

A. Security 

B. Persistence 

C. Naming and messaging 

D. Remote connectivity 

E. Failover 

F. Lifecycle management 

G. Multithreading handling 

H. Load balancing 

Correct Answer: ABDF 
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QUESTION 10

Which three principles are best practices when implementing a logging strategy for an enterprise application? 

A. Never print log messages to the console window. 

B. Use the appropriate logger level for logging information. 

C. Log messages for every method entry and exit. 

D. Include programmer-specific data in the log messages. 

E. Include the thread name and Java class name in log messages. 100% Real QandAs | 100% Real Pass 

Correct Answer: BCD 

 

QUESTION 11

YourDocs is an application that retrieves PDF documents of selected topics from both trusted and untrusted websites. It
has been developed using a non-Java technology. You are designing your Mlearn, a mobile-based e-learning
application, which will be implemented in Java. You plan to integrate YourDocs with your application. 

Which web service technology would you choose to Integrate YourDocs into the YourMLearn application? 

A. JAX-WS 

B. JAX-WS with REST 

C. JAX-RPC 

D. JAX-RS 

Correct Answer: D 

100% Real QandAs | 100% Real Pass 

 

QUESTION 12

Which two statements are true about delegation as an Object-Oriented Design technique? 

A. It is applied to a system only at compile time. 

B. It is an essential element of the Singleton pattern. 

C. It allows you to replace Inheritance with composition. 

D. In Java technology, it is always implemented through the use of generics. 

E. It always requires that at least two objects are involved in handling a request. 

Correct Answer: CE 
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QUESTION 13

You are designing a new subsystem to store and scratch for user commands in a fashion company\\'s website. On
class, CommentManager, is responsible for accessing comment data and providing read-only access to other objects in
the subsystem. 

Which two implementation details are necessary for the Cementmanager class? 

A. The storage mechanism implemented in CommentManager must be private to CommentManager. 

B. All the accessor and mutator methods in CommentManager must have the static modifier in their declarations. 

C. The comments must be assessable directly only within CommentManager. 

D. CommentManager should be a singleton object. 

Correct Answer: AC 

 

QUESTION 14

Which two are objectives of the Abstract Factory pattern? 

A. To create whole-part hierarchies 

B. To create families of related objects 

C. To enforce dependencies between concrete classes 

D. To specify the types of objects to create by using a sample instance 

E. To separate the construction of a complex object from its representation 100% Real QandAs | 100% Real Pass 

Correct Answer: BC 

 

QUESTION 15

ABC Travel offers a night reservation service, exposed as a web service. XYZ Stays offers a hotel reservation service,
also exposed as a web service. ABC and XYZ will not change their web service. A startup company has contacted you
for 

advice about designing a new service that combines flight and hotel reservations, which they will offer as a web service. 

The startup company plans to provide their service by implementing a portable Java EE solution that aggregates the two
services offered by ABC Travel and XYZ Stays, a combined reservation succeeded. 

Only if both the flight reservation and the hotel reservation succeed 

Which is the most effective way to meet the business requirement? 

A. The startup company should implement their new service as a web service that uses an XA transaction manager. 
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B. The startup company cannot implement their new service as a web service, but must use an enterprise JavaBean
(EJB) component to gain transaction propagation. 

C. The startup company should implement their new service as a web service by calling the two existing services, and
implementing their own compensating transaction. 

D. The startup company can implement their new service as a web service by calling the two existing services in a
single transaction, relying on transaction propagation to support this business rule. 

Correct Answer: C 
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